Bl-Lok
Cleanness by Purpose

(Y [HARA

\IJ SCIENCE
BALL VALVE

all
Valve

A=IVI\IT

IHARA SCIENCE CORPORATION



i—ILINILT U — X D45
B 530MPax TOFERAENICHEL TENE T,
BERFICHEL TGEN, BhdHEEAELET,
EAEDERUNCE CERICEC TEIELE T,

FEATURES OF BALL VALVE SERIES

Can be selected in accordance with the application pressure from vacuum to 30MPa as well
as by the fluids being handled. Oil free specification is also available. Non-standard connections
can also be made upon request.

AR—JLINIL T 1) — X Ball valve series

INIVT ReERES | FRERESH EHRARXEF I X SERRAE
Y- Max. working Working Type & size of Connection Applicable fluid
Valve pressure Temperature =i o HZ 7K B3
series MPa range C BI-LOK VIF ARG Vac. Air Gas Wir Lad
BO5 49 @38C | —10~ 80 1/4~1/2 1/4~1/2 O O O O
$6~12
B17 175 @38C —10~100 1/4~1/2 1/4~1/2 O O O O
B30 30.0 @38TC —10~ 80 1/4~1/2 1/4~1/2 O O O O
BOFR 0.98 @38TC —10~ 80 1/4~3/4 1/4~3/4 1/4~1/2 O O O
BAA 40 @38C | —10~100 1/4~2 O O O
- -~ b3 a N - agn
R—=ILNIVT HEBEHREAE  Ball valve part number definition
@® @ & ® ® ®
OFR=IN\WT =X (KX : B) Ball valve series (Initial symbol : B)
@INfl#E#H:EH 1 X Connection size (inside)
1)inch Bl-Lok. VTF##: Connection 2) mm Bl-Loki#E#: Connection
0% Symbol 4 6 8 12 0% Symbol 6M 8M 10M 12M
#4 X Size 1/4” 3/8” 1/2” 3/4” #4 X Size 6mm 8mm 10mm 12mm
3) B UA#A#EF Screwed fittings ##i Connection
05 Symbol 2 4 6 8 12 16 20 24 32
#4 X Size 1/8B 1/4B 3/8B 1/2B 3/4B 1B 1-1/4B 1-1/2B 2B
GINfI#E#EH Connection end (inside)
i85 Mark ## #5& 9% Connection end 525 Mark % #t % Connection end
D Bl-Lok NM Male NPT
DC Bl-Lok Single ferrule NF Female NPT
VM Male VTF RM ISO/R
VF Female VTF RF ISO/Rc
OR OFS VO VTF O-ring seal type

@OUTHI#ER:H 1 X Connection size (outside) INfl & [6]— DA 1340
®OUTHI#E R4 Connection end (outside) Omit when identical with the IN side.
®KRT s 4R Styleofbody S: A ML — 1% A7 Straight type A: 7 Y27 % A7 Angle type




B053/1)—X Series

4.9Mpa NIV > RRAZINY MR—=IVINILT
4.9Mpa Panel mounted Compact Ball Valve

4458 Features

mYA RXT7) 27Ky MEE
Both side screwed bonnet type construction

a2 Ny NTBE
Compact and light weight

BNIBEEE D5/ RILEIK
Handle shaped to provide superior operability

RF-PTFE/Nvw ¥ > T AMR £
Durability enhanced with RF-PTFE packing

ft## Specifications

FAFFluid @ ZZ5AIr. B H XGases. KWater. EZVacuum

= {#FE 77Max.Working Pressure : 4.9Mpa @ 38°C

& R FE 85 B Working Temperature range : —10~80C

CV{& : 0.7(4D). 2.2(6D). 4.2(8D)

{EFiE/EHE| Lubricant : Z7JL4+ O H —KR > ~X—X Fluoro-carbon Base

#E Materials
No. &h% Part Description Qty 8 Material
1 | K7 1 Body 1 |SCS14
2 | A7 4 %+ v 7Body cap 2 |SUS316
3 |FR—JLBall 1 | SUS316
4 | ¥ — k/Ny ¥ > Seat packing 2 | RF-PTFE
5 |01 >%0-ring 2 |FKM
6 | A7 LStem 1 | SUS316
7 |0 >7J0-ring 1 | Fluoro-rubber
8 | A7 X M7y ¥ +Thrust washer 1 |PCTFE
9 | 77> KGland 1 | SUS304
10 | /N> KJVHandle 1 | Polycarbonate
11 |y X7 177Set screw 1 | SUS304
12 | /X% JLF v bPanel nut 1 | SUS304
13 | 78> k7 Jv—IJLFront ferrule 2 | SUS316
14 | /Ny 7 7 1)V —JLBack ferrule 2 | SUS316
15 | 7 FNut 2 | SUS316
~Hi&% Dimensions (BI-LOK#%#: BI-LOK connection)
Part No. A Dimensions mm F Panel |Weight
Straight Angle in mm E L L+ H h hi w B in mm | Hole | kg
B05-4D-S B05-4D-A 1/4 6.35 48 | 364 | 29 36.5 10.5 5 45 19 9/16 | 1428 | 148 | 0.20
B05-6D-S B05-6D-A 3/8 9.53 71 42.5 35 41.7 13 5 54 24 11/16 | 17.46 | 18.5 0.30
B05-8D-S B05-8D-A 1/2 12.7 10.0 48.2 38 51.5 17 5 70 30 7/8 2222 | 25.8 0.50
B05-6MD-S B05-6MD-A — 6 48 | 36.5 29 36.5 10.5 5 45 19 — 14 14.8 | 0.20
B05-8MD-S B05-8MD-A — 8 48 | 375 30 36.5 10.5 5 45 19 — 17 148 | 0.20
B05-10MD-S | B05-10MD-A — 10 71 42.7 349 | 417 13 5 54 24 — 19 18.5 0.30
B05-12MD-S | B05-12MD-A — 12 10.0 48.2 38 51.5 17 5 70 30 — 22 25.8 0.50
~Hi&%R Dimensions (BT —/\fa Ut Pipe tapered thread connection)
Part No. T Dimensions mm Panel | Weight
NPT Conn Rc Conn. NPT/Rc E L H h h1 w B Hole kg
B05-4NF-S B05-4RF-S 1/4 5 23 36.5 10.5 5 45 19 148 | 0.20
B05-6NF-S B05-6RF-S 3/8 71 24 41.7 13 5 54 24 18.5 0.30
B05-8NF-S B05-8RF-S 1/2 10.0 | 295 | 515 17 5 70 30 25.8 | 0.50

() - Bl-LokiEfEDERETEL &, + v FOERBOHEBICHTEHDTT,
(Note) + Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_2_




B171)—X Series

17.5MPa NIV 2 bR /N MR—JLINIVT
17.5MPa Panel mounted Compact Ball Valve

FEH/BELVAT 17 Pressure-Temperature Rating

458 Features

BYA RX7Y17R 2y MEE
Both side screwed bonnet type construction

a2 XY NTRE
Compact and light weight

BNIREMESH 5T/ RILEIK
Handle shaped to provide superior operability

PCTFE/Yy % > T AR L
Durability enhanced with PCTFE packing

ft## Specifications

FAFFluid @ 255 AIr, &1 H XGases. KWater, EZ?Vacuum
=% E 77Max.Working Pressure : 17.5Mpa @ 38C

£ AR FE 85 B Working Temperature range : —10~100C

Cvi& : 0.7(4D). 2.2(6D). 4.2(8D)

{£MHEB%| Lubricant : 7JLA 0O A —K>~X—2X Fluoro-carbon Base

& Materials

147@®

s No. &% Part Description Qty #E Material
1 1 | A7 1 Body 1 |SCS14
g 2 | /NJLF R —JLValve Ball 1 |SUS316
e m— 3 | A£—JL L — MBall Seat 2 |PCTFE
4 4 | %4 KK > % v bSide bonnet 2 |SUS316
5 |01 >%0-ring 2 |FKM
O E ae” ® ® 6 | X7 LStem 1 |SUS316
J . 7 | 1%y % 1) > JPacking ring 1 |SUS316
(/O | ) N 5| /5% F7vy %> Gland packng | 1 |PTFE
"0 ’ = 9 [75>F7v < vGlandwasher | 1 |SUS316
@ ® 10 | MIiF'1aConed disc spring 2 |SUS304
D) @ 11 55> K+ rGland nut 1 [SUS304
@ 12 [ /7> KJLHandle 1 | Nylon&C3604
® 18 | v hZX 1) 2 Set screw 1 |SUS304
14 | 7 FNut 2 |SUS316
H-H FHHT 15 | 70> h 7 zJb—JLFrontferrule | 2 [SUS316
W 16 | /Ny 7 7 1 JL—JLBack ferrule 2 |SUS316
® DB 50 17 | /X% JLF v hPanel nut 1 |SUS316
~i%&% Dimensions (BI-LOKi#E#E BI-LOK connection)
Part No. A Dimensions mm Weight
Straight in mm d L L+ H1 He Hs N1 N2 Ns N4 F T W Wi M kg
B17-4D-S| 1/4 | 6.35 4.8 83 | 26.0 | 47 10 | 105 | 105 | 21 |19.05|14.28(22.22| 165 | 6 59 | 35.5 |M3x0.5| 0.20
B17-6D-S| 3/8 | 953 | 71| 90 | 283 | 52 | 12 |12 |12 24 |20.65(17.46|23.8 | 185 | 8 64 | 38 |[M4x0.7| 0.27
B17-8D-S| 1/2 127 | 10.4 | 102 [ 28.0| 60 | 14 |15 |15 30 [25.4 |22.22(30.16| 245 | 9.5 | 102 | 63 |M5x0.8/ 0.47
~}i%% Dimensions (BT —/Yt U##it Pipe tapered thread connection)
Part No. T Dimensions mm Weight
NPT Conn | RC Conn. |NPT/RC| d L L Hi Hz Ha N1 N2 Ns F T w Wi M kg
B17-4NF-S|B17-4RF-S| 1/4 | 48 |67.8 339 | 47 | 10 | 105|105 | 21 |19.05/22.22| 165 | 6 59 | 35.5 [M3x0.5| 0.20
B17-6NF-S | B17-6RF-S | 3/8 711708 | 354 | 52 12 12 12 24 |2222| 238|185 | 8 64 | 38 |M4x0.7| 0.27
B17-8NF-S |B17-8RF-S| 1/2 | 10.4 | 84.8 | 424 | 60 14 | 15 15 30 |27 30.16| 245 | 95 102 | 63 |M5x0.8| 0.46

() - Bl-LokiEfDERESTEL &, v POIEHHOABICHTZHDTT,
(Note) + Dimension L for BI-Lok connection is with the nut in the finger tight position.

_3_




B30:/1)—X Series

30MPa /NRJILY 2 AN MER—=ILNIVT
30MPa Panel mounted Compact Ball Valve

FEH/BELAT 17 Pressure-Temperature Rating

4458 Features

mYA RXT7) 27Ky MEE
Both side screwed bonnet type construction

a2 Ny NTBE
Compact and light weight

BNIBEEE D5/ RILEIK
Handle shaped to provide superior operability

PCTFE/Yy % > THA MR L
Durability enhanced with PCTFE,/PEEK packing

ft## Specifications

FAFFluid @ ZZ5AIr. B H XGases. KWater. EZVacuum

=% E 77Max.Working Pressure : 30Mpa @ 38C

& R FE 85 B Working Temperature range : —10~80C

Cvi& : 0.7(4D). 2.2(6D). 4.2(8D)

{EFiEEHE| Lubricant : Z7JL4+ O H —KR > ~X—X Fluoro-carbon Base

& Materials

30

PEEK

PCTFE

14MPa

6" @®

N4

(Z@EE)

$ FUsxA®)

No. &h% Part Description Qty 8 Material
1 | &7 1 Body 1 | SUS316
2 | /NJLJ R —JLValve Ball 1 |SUS316
3 | R—JL— hBall Seat 2 | PCTFE/PEEK %
4 | ¥— k) 71 FSeat retainer 2 |SUS316
5 |01 >%0-ring 2 |NBR
6 |1 K&K > %y bSide bonnet 2 | SUS316
7 | 01> %J0-ring 2 [NBR
8 | X7 LStem 1 |SUS316
9 | 47> K7y +Gland washer 1 |PCTFE
10 | 0) > % O-ring 2 |[NBR
11 | /Ny 775 7V > % Back up ring 1 | PTFE
12 | XZ X 7w ¥ +Thrust washer 1 | PCTFE,/PEEK
13 | 77> K7 hGland nut 1 | SUS304
14 | /N> KJVHandle 1 | Nylon&C3604
15| v X7 1) 17 Set screw 1 | SUS304
16 | 7 FNut 2 | SUS316
17 | 78> b7 xJ)L—JVFront ferrule 2 | SUS316
18 | /Ny 7 7 T Jb—JLBack ferrule 2 | SUS316
19 | /X% JLF v bPanel nut 1 | SUS316

(iE*) H XL Tin-owtDEE P 20MPa% B A 3156 1E. K—IL Y —MIE IEPEEK%E

TRELEE,

(Note)When gas pressure difference between in and out exceeds 20MPa,

select PEEK for ball sheet.

Hi
|
1

Hz

T
(NFLEE)

Hs

e i

L1

Has

TN

Ns
N2
N1

~i%# Dimensions (BI-LOKIE#t BI-LOK connection)

Part No. A Dimensions mm Weight

Straight in mm d L L1 Hi H2 Hs Ha N1 N2 N3 N4 F T w Wi M kg
B30-4D-S| 1/4 6.3 48 | 87 28.1 48 | 10 11.3 | 10.3 | 20.6 |19.05|14.28|22.22| 16.5 6 59 35.5 [M3x0.5| 0.20
B30-6D-S| 3/8 9.5 71| 96 309 | 53 10 155 | 13,5 | 27 23.8 |17.4623.8 | 18.5 6 64 38 |M4x0.7| 0.34
B30-8D-S| 1/2 | 12.7 | 10.4 | 110 | 31.7 | 59 125 | 17 15.9 | 31.8 |30.16|22.22|30.16 | 24.5 8 102 | 63 |M5x0.8| 0.55
~Ii%% Dimensions (BH 7 —/V1a U##k Pipe tapered thread connection)

Part No. T Dimensions mm Weight

NPT Conn | RC Conn. NPT/RC| d L L H1 Hz Hs Ha N1 N2 Ns F T w Wi M kg
B30-4NF-S | B30-4RF-S | 1/4 48 | 72 38 48 | 10 11.3 | 10.3 | 20.6 | 19.05|22.22| 16.5 6 59 | 35.5 |M3x0.5| 0.20
B30-6NF-S | B30-6RF-S | 3/8 71 80 40 53 10 15.5 | 13.5 | 27 23.8 |23.8 | 18.5 6 64 | 38 |M4x0.7| 0.35
B30-8NF-S | B30-8RF-S| 1/2 | 10.4 | 94 47 59 | 125 | 17 159 | 31.8 |30.16|30.16 | 24.5 8 102 | 63 |M5x0.8| 0.56

() - Bl-LokiEfEDERETEL &, + v FOERBOHEBICHTEHDTT,
(Note) + Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_4_




BOFR:/')—X Series

0.98Mpa /N&JILY > hROA /N MR—IVINIVT (ZhitE)
0.98Mpa Panel mounted Compact Ball Valve

B

Specifications

BYA RX7Y 17K 2y MEE
Both side screwed bonnet type connection

Fluid

EEREREL /AL

contacting surface is oil free

J2/87 NTEE
Compact and light weight

BRIEMICEN 2N KILIR
Handle shape to provide superior operability

RF-PTFE/X v % > TR AMRE £
Durability enhanced with RF-PTFE packing

%

Specifications

TRAFluid @ ZRAIr. &84 XGases. KWater

== {#FE 77Max.Working Pressure : 0.98MPa @ 38C

{ERRE#FE Working Temperature range : —10~80C

CV{& : 0.7(4D). 2.2(6D). 4.2(8D)

{EFAEBAE| Lubricant : 7L 0O A —FK>~X— X Fluoro-carbon Base

8 Materials
No. &u7Z Part Description Qty & Material
1 | K7 1 Body 1 |SCS 14
2 | A7 1 %+ v 7Body cap 2 |SUS 316
3 |[AR—JLBall 1 |SUS 316
4 | ¥ — /Xy % > Seat packing 2 |RF-PTFE
5 |O-1 > % 0-ring 2 | Fluoro-rubber
6 | X7 LStem 1 |SUS 316
7 | 7Z> K7y vGland washer 1 |PTFE
8 |O-1)>%0-ring 1 | Fluoro-rubber
9 | RZ X ~7 v ¥ +Thrust washer 1 |PCTFE
10 | 7 7 > KGland 1 | SUS 304
11 | /7> KJVHandle 1 | Nylon&C3604
12 | £y b X71) 277 Set screw 1 |SUS 304
13 | /X% JLF v bPanel nut 1 | SUS 304
14 | 70> b7 = JL—JVFront ferrule 2 |SUS 316
) 15 | /Ny 77 7 = Jb—JLBack ferrule 2 |SUS 316
BI-LOK end connection 16 |7 v FNut > 1SUS 316
E2vy7ThUEME
VTF HF42 M [Z&] D | D1
1/4 |6M,8M|M3x0.5| 5 | 15| 15
3/8 | 10M [M3x0.5| 5 | 18 | 18
1/2 12M |M3x0.5| 5 |24 | 22
VTF end connection Pipe tapered threaded connection  Rc s/4 M4x0.7) 5 |32 | 16
~%% Dimensions mm
Conection | PartNo. | A d L Li | Lo | Ls | H | Hs h W | Wi | F B | B | D |Di | G C |T(inch)
BOFR-4D-S| 1/4 | 4.8 73 | 58 — — | 37 105|105 | 45| 28 | 154 | 21 |14.28| 15 15 |145| 5 —
Bl-Lok BOFR-6D-S| 3/8 | 7.1 85 | 70 — — 1422 |13 13 54 | 33 |17 24 |17.46| 18 18 | 18.5 5 —
BOFR-8D-S| 1/2 10 97 | 76 — — | 52 17 15 70 | 44 |23 30 (22.22| 24 22 | 255 5 —
BOFR-12D-S| 3/4 | 12.5| 130 {108.6| — — | 68 19 20 116 | 80 |24.6| 38 (28.58| 32 16 |36.5| 5 —
BOFR-6MD-S| 6mm | 4.8 73 | 58 — — | 37 105|105 | 45| 28 |154 | 21 |14 15 15 |145| 5 —
MBI_LOKBOFR-BMD-S 8mm| 4.8 75 | 60 — — |37 10.5|10.5 45 | 28 | 16.3| 21 |17 15 15 | 14.5 5 —
BOFR-10MD-S{10mm| 7.1 86 | 69.8] — — 422|183 13 54 | 33 |17.3| 24 |19 18 18 | 18.5 5 —
BOFR-12MD-§|12mm| 10 97 | 76 — — | b2 17 15 70 | 44 | 229 | 30 |22 24 22 | 255 5 —
BOFR-4VM-S| 1/4 | 4.8 | — — | 61 — | 37 105|105 | 45| 28 — 21 — 15 15 |145| 5 |9/16-18
VTF |BOFR-8VM-S|3/8&1/2| 10 — — | 76 — | b2 17 15 70 | 44 — 30 — 24 22 |255| 5 |7/8-14
BOFR-12VM-S| 3/4 | 125 | — — |123.6] — |68 19 20 116 | 80 — 38 — 32 16 |36.5| 5 |11/4-18
BOFR-4RF-S| 1/4 | 4.8 — — — 46 | 37 10.5]10.5 45 | 28 — 21 — 15 15 | 14.5 5 —
Rc BOFR-6RF-S| 3/8 | 7.1 — — — 48 | 422 |13 13 54 | 33 — 24 — 18 18 |185| 5 —
BOFR-8RF-S| 1/2 10 — — — 59 |52 17 15 70 | 44 — 30 — 24 22 | 255 5 —

(GE) - Bl-LokiEMERISTAL E. Fv FOIEKEOHUEICH I 2 HDTT,
(Note) - Dimension L for Bl-Lok connection is with the nut in the finger tight position.

_5_





